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GENERAL INSTRUCTIONS TO THE EXAMINEES :
1.  gOemef Tagey 3799 939 951 R ATHh 1ferdq; ford |

Candidate must write first his / her Roll No. on the question

paper compulsorily.
2. WY ® fa § |
All the questions are compulsory.

3. U T 61 I G T I-YiEden | gl T |

Write the answer to each question in the given answer-book
only.

4. 99 9ol ° emafisr @ue €, S99l & SR T WY & fad |

For questions having more than one part the answers to those

parts are to be written together in continuity.
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5. U UF & fel 9 AUSHt AR H fohdl ghr wt Afe / AR / foienwmg

B W fE=<) 91 & 939 1 &1 WE A

If there is any error / difference /

contradiction in Hindi and

English versions of the question paper, the question of Hindi

version should be treated valid.

6. WA HET 3feh Uelsh U9
1-6 1
7-13 2
14 - 23 3
24 - 30 4
Q. Nos. Marks per question
1-6 1
7-13 2
14 - 23 3
24 - 30 4

I ohT ITag HHT
203
40 I
100 3
150 3
Word limit of answer

20 words

40 words

100 words

150 words

7. U H@ 31 HETTS Hrd Q Geifyd § AR 5 3w w1 T |

Question No. 31 is related to map-work carrying 5 marks.

8 WHEEN 15W 17H 4 fh<l S 1 ST TN & | T &A1 24 9 27

A 29 # it fawmeq ® |

Two questions are to be answered from Q. Nos. 15 to 17. There

are internal choices in Q. Nos. 24 to 27 and 29.

1. ‘TS uEl’ &A@ wia g ?

Who was the founder of the ‘Swaraj Party’ ?
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2.  9RA & fe=l g &ia USHifds gal & a8 fafey |

Write the names of any two regional political parties of India.

% + % =1

3. Hhd ¥ S fhd Fed T 2

What is gross domestic product ? 1
4. o5 fafma yomeh =t <t wfemar fafau |

Write any two difficulties of barter system. % + % =1
5. SR TERIYE ¥ @ Ay 2

What is meant by trade barrier ? 1
6. WA H IUHIHI fead el TR STa1 © 2

When is consumer day observed in India ? 1

7. Trafatea #i gafaa s :

HETTR TS e
)  feoett 3) TSt GHTHES ard
i) g ) HHAWeRH
iii) IR ) iy e stasa
iv) e T)  ould Rrerst |
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Match the following :

Metropolitan City

i) Delhi

ii) Mumbai

iii) Kolkata

iv) Chennai

a)

b)

c)

d)

Airport

Netaji Subhash Chandra Bose

Meenam Bakkam

Indira Gandhi International

Chhatrapati Shivaji

8. UMY gRI THIEH! & el ST ¥ U= < THENST Hl T FHifw |

Explain two problems caused due to the indiscriminate use of

resources by humans.

1+1=2

9. YRf9s Sfifaert fate &fw qen anforfs $Y &t gor wifeT |

Compare the primitive subsistence farming and commercial farming. 2

10. TTT W& & T 39TH FoAET |

Suggest two measures to conserve soil. 1+41=2

11. 19 fog@ 9 saaeie Sarl § 93 €1 arel sTafterd @fasi § 9 e =i 8 ?

Why is mica one of the most indispensable minerals used in electric

and electronic industries ?
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12. 9G¥ 39 fafaydr =1 &7 w3 9l 91 s &1 fafay |

Write four factors that have led to decline in biodiversity in India.

N =
Il
N

4 x

13. 9RA ¥ gl 9% 3T 1 39fa & ford <1 gara S |

Give two suggestions for progress of cotton textile industry in India.

1+1=2

14. ‘foarwd sficied’ &1 e e Hifsw | 39H TS w1 YfHeT 1 o
T |

Explain the meaning of the 'Khilafat movement'. Examine the role of

Gandhiji in it. 1+2=3
g HEe 159 17 H 9 forgl el o s fife
Attempt any two questions from Q. Nos. 15 to 17 :

15. firfafean gfiel 9t w@fara feooft fafen |

Write a short note on the indentured labour. 3
16. TR0 IF o ST (& T Tadl 38 ) T Y9I SMag |

Throw light on Durgacharan Rai’'s novel ( The Gods Visit Earth ). 3
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17.

18.

19.

20.

21.

22.

6
gorq fava gg & aftormdl =1 fae=m wifsa |

Discuss the results of the first World War.

T YA f3d hid o <f fafver adest 1 9o Sifaq |

Describe two different kinds of routes through which federation has

been formed. 1 % +1 % =3

IR 19 Faee § guR & fau gegma dfee |

Give suggestions for improvement in Indian electoral system.
1+41+41=3

et SRISAT | 31 19 § 2 38 6 H A o fag 12 <1 gema <ifs |

What is meant by disguised unemployment ? Give any two suggestions
to reduce it. 1+2=3

IRA o UTHO &S H WO F S Edl *l 9g % faw wE dF gend
difST |

Give any three suggestions to increase formal sources of loan in rural

areas of India. 1+1+1=3
AR 3TefTawel W VARl & fh=g] i FuTal 1 i HifsT |

Describe any three impacts of globalisation on Indian Economy.

1+1+1=3

P—08—Soc. Sc.


http://www.studentbounty.com/

7
23. O 9 &I SAURR TR ? 3Hh FIg o ¥ FHATET |

What is right to information ? Explain any two advantages of it.

1+2=3
24. 3! o eIkl 1 U HITIQ |
YT
ST % Y fhiehTol i TH=ATET |
Describe the unification of Italy. 4
OR
Explain the modernisation of Japan. 4

25. ‘'Hgu Hepfd ¥ 1789 i Wifaw wifd w1 YA TIR #T 1" 39 wU F U H
w1s i foig fafay |

3rerar
IR T ST AT TRITEeh] % fTT SgHed €ia of 1" ¥ Hifv |

“The Print Culture laid the foundation for the French Revolution of

1789.” Write any three points in support of this statement. 4

OR

“The wuse of novel was a valuable source for the colonial

administrators.” Explain. 4
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26. WIhdiiAeh JSHITd H GRYSIIehal o J9E i SR hifag |

SLE)
TSI FHMAT § @RI 6 AMEM i IR HIST |
Highlight the impact of communalism in democratic politics.
1+1+1+1=4
OR
Highlight the contribution of urbanisation in social equality.

1+1+1+1=4
27. AN & clhdieh YRR 1 G0 HifsT |
3rerar

TSTITaeR GERT § T ki YfHRT 1 0 HIfST |

Describe the democratic rights of citizens. 1+41+41+1=4
OR
Describe the role of laws in political reforms. 4

28. hdd | 2Tfeieh THTAAT i AU i faa=qT wifsT |

Explain the concept of economic equality in democracy.

1+1+1+1=14
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29. oMUkl gfe #, < I & HeA fas@ & ga & foau wHA-91 ArIevE 9% ® 2

YHEST |
rerar
3maeh! gfie o, faehTd &1 $I9-91 TR Td WX ¥RO1g § 2 GHEET |

In your point of view, which is a better measure to compare

development between two countries ? Explain. 1+3=4
OR

In your point of view, which type and level of development is

sustainable ? Explain. 1+3=4

30. T W dfyw fewforr fafax .

(i) &

(i) Bd a9l S UL |

Write short notes on the following :

(i) Biogas

(ii) Roof top rain water harvesting. 2+2=4
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31. (%) feuu yrRa & W gt § ffafed =i ifea sifsa

(1) Hd

(i) e |

(@) feu U vyra & @ qAfes 4 4 a1 Afewa wifs

(i) =9 IUCH TG &7

(i) &S 8BTS

(ifi) TETeT eeT 3T s&aTd 99 |

(a) Mark the following in the given outline map of India : 1+1=2
(i) Surat
(ii) Goa.
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(b) Mark the following in the given outline map of India :

1+1+1=3

(i) Major rice producing area

(ii) Mumbai High

(iii) Bhadravati iron and steel plant.
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